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1. A company issues a 25-year zero-coupon bond. The bond matures for 1000 and has a price of 557.
Determine the yield on the bond, expressed as a nominal annual rate of interest compounded

semiannually.
[A)235% B) 198% C) 207% D) 217% E) 226%
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2. A U.S. Treasury bill has a price of 985 and matures in 13 weeks for 1000. Find the quoted rate for the
T-Bill.
A 5 593% B) 558% C) 567% D) 576% E) 5.85%
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3. A U.S. Treasury bill matures in 26 weeks for 1000 and has a quoted rate of 3.1%. Find the price of the

T-Bill.
lA) !984.33 B) 974.48 C) 976.95 D) 979.41 E) 981.87
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4. A Canadian Treasury bill has a price of 987 and matures in 13 weeks for 1000. Find the quoted rate for the
T-Bill.

[A]528%  B) 505% ©) 512% D) 520% E) 536%
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5. A Canadian Treasury bill matures in 26 weeks for 1000 and has a quoted rate of 3.8%. Find the price of the
T-Bill.

[a))os140 B) 97159 ©) 97404 D) 97650 E) 97895
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